

Approximation of Expectation and Variance on $[a, b]$ Interval, with Probability Density Function in $L_p[a, b], 0 < p < 1$

Nadiha Abed Habeeb¹Eman Samir Bhaya²^{1, 2}Department of Mathematics, College of Education for Pure Sciences, University of Babylon, Iraq**Abstract :**

In this article we use Taylor's formula to approximate expression in terms of expectation and variance simultaneously with probability density function in $L_p, 0 < p < 1$.

1.1.Introduction

If X is a random variable, have probability density function

$f: [a, b] \rightarrow R$. We know that the expectation of the random variable X is

$$E(X) = \int_a^b tf(t)dt.$$

Therefore, the variance of the random variable X is

$$\sigma^2 = \int_a^b (t - E(X)f(t))^2 dt = E(X^2) - (E(X))^2$$

In our article we use these inequalities to approximate (estimate) expectation and variance with measurable probability density functions, in the aid of Taylor's formula.

1.2. The Main Results

To prove our main theorem we need the following auxiliary Lemmas

Lemma 1.2.1:[2]

$$\int_a^b (b-t)(t-a)f(t)dt = |b - E(X)||E(X) - a| - \sigma^2(X), t \in [a, b]$$

Lemma 1.2.2.[1]

If $p < q$, then

$$\left(\sum_{i=1}^{\infty} |x_i|^q\right)^{\frac{1}{q}} \leq \left(\sum_{i=1}^{\infty} |x_i|^p\right)^{\frac{1}{p}}.$$

Now let us introduce our main Theorem.

Theorem 1.2.3

Let X be a random variable defined on $[a, b]$ with the probability density function $f: [a, b] \rightarrow R$ belongs to $L_p[a, b], p < 1$. Then we have,

$$|b - E(X)||E(X) - a| - \sigma^2(X) \leq c(b - a)^{2+p-\frac{1}{p}} \|f\|_p,$$

$0 < p < 1$, where c is a positive constant.

Proof

Since

$$\int_a^b (b-t)(t-a)f(t)dt \leq \int_a^b (b-a)^2 |f(t)|dt$$

$$= (b-a)^2 \int_a^b |f(t)|dt, \quad (1)$$

Now

Let $t_1 < t_2 < t_3 < \dots < t_n$ be a partition for $[a, b]$, $a = t_0$, $\Delta = \frac{b-a}{n}$,

$$t_1 = a + \frac{b-a}{n}, t_2 = a + \frac{2(b-a)}{n}, \dots, t_n = a + \frac{i(b-a)}{n}.$$

This implies,

$$\int_a^b f(t)dt \cong \sum_{i=1}^n f(t_i) \frac{b-a}{n}, [54] \quad (2)$$

If $p < 1$, by using Lemma 1.2.2 and (2), we get

$$\int_a^b f(t)dt \leq \left(\int_a^b |f(t)|^{\frac{1}{p}} \right)^p \leq c \left(\sum_{i=1}^n |f(t_i)|^{\frac{1}{p}} \frac{b-a}{n} \right)^p$$

By using Holder inequality when $q > 1$, $k > 1$ and $\frac{1}{q} + \frac{1}{k} = 1$, we get

$$\int_a^b f(t)dt \leq c(b-a)^p \left(\left(\sum_{i=1}^n |f(t_i)|^{\frac{q}{p}} \right)^{\frac{p}{q}} \left(\sum_{i=1}^n \left| \frac{1}{n} \right|^k \right)^{\frac{p}{k}} \right)$$

$$\leq c(b-a)^p \left(\left(\sum_{i=1}^n |f(t_i)|^{\frac{q}{p}} \right)^{\frac{p}{q}} \sum_{i=1}^n \frac{1}{n^k} \right), k > 1$$

$$\leq c(b-a)^p \left(\left(\sum_{i=1}^n |f(t_i)|^p \right)^{\frac{1}{p}} \frac{1}{n^{k-1}} \right)$$

Assume $\frac{1}{p} = k - 1$, then

$$\int_a^b f(t)dt \leq \frac{c(b-a)^p}{(b-a)^{\frac{1}{p}}} \left(\left(\sum_{i=1}^n |f(t_i)|^p \frac{(b-a)^{\frac{1}{p}}}{n} \right)^{\frac{1}{p}} \right)$$

$$\leq \frac{c(b-a)^p}{(b-a)^{\frac{1}{p}}} \left(\left(\int_a^b |f(t)|^p \right)^{\frac{1}{p}} \right)$$

$$\leq \frac{c(b-a)^p}{(b-a)^{\frac{1}{p}}} \|f\|_p. \quad (3)$$

Thus

$$\int_a^b (b-t)(t-a)f(t)dt \leq c(b-a)^{2+p-\frac{1}{p}} \|f\|_p$$

Then by repeating of using of (2), we get,

$$\int_a^b (b-t)(t-a)f(t)dt \leq (b-a)^{2+p-\frac{1}{p}} \|f\|_p.$$

Then by using Lemma 1.2.1, we get,

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering

$$|b - E(X)||E(X) - a| - \sigma^2(X) \leq (b - a)^{2+p-\frac{1}{p}} \|f\|_p,$$

$0 < p < 1$ ■

Theorem 1.2.4

Let X be a random variable defined in $[a, b]$ with the probability density function $f: [a, b] \rightarrow \mathbf{R}$ belongs to $L_p[a, b]$, $p < 1$. Then we have,

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \frac{(b - a)^3}{6} \right| \leq \frac{(b - a)}{2} ((a + x)^2 + (b + x)^2 \|f(t)\|_p) + \frac{(b - a)^3}{6}$$

Proof

Recall pre-Gruss inequality when $0 < p < 1$

$$\left| \frac{1}{b - a} \int_a^b h(t)g(x, t)dt - \int_a^b h(t) dt \frac{1}{b - a} \int_a^b g(x, t)dt \right| \leq \frac{1}{2} \{ (a + x)^2 + (b + x)^2 \|h(t)\|_p \} + \left| \int_a^b h(t)dt \frac{1}{b - a} \int_a^b g(x, t)dt \right| \quad (4)$$

Put $h(t) = f(t)$, $g(x, t) = (b - t)(t - a)$, in (4), we get.

$$\left| \frac{1}{b - a} \int_a^b f(t)(b - t)(t - a)dt - \int_a^b f(t) dt \frac{1}{b - a} \int_a^b (b - t)(t - a)dt \right| \leq \frac{1}{2} ((a + x)^2 + (b + x)^2 \|f(t)\|_p) + \left| \int_a^b f(t)dt \frac{1}{b - a} \int_a^b (b - t)(t - a)dt \right|. \quad (5)$$

Now let us compute $\int_a^b (b - t)(t - a)dt$

$$\begin{aligned} & \int_a^b (b - t)(t - a)dt \\ &= \int_a^b (bt - ab - t^2 + at)dt = \left. \frac{t^3}{3} - abt - \frac{t^3}{3} + \frac{at^2}{2} \right|_a^b \\ &= \left(\frac{b^3}{2} - ab^2 - \frac{b^3}{3} + \frac{ab^2}{2} \right) - \left(\frac{a^2b}{2} - ba^2 - \frac{a^3}{3} + \frac{a^3}{2} \right) \\ &= \left(\frac{3b^3 - 6ab^2 - 2b^3 + 3ab^2}{6} \right) - \left(\frac{3a^2b - 6ba^2 - 2a^3 + 3a^3}{6} \right) \\ &= \frac{(b^3 - 3ab^2) - (a^3 - 3ba^2)}{6} = \frac{b^3 - 3ab^2 + 3ba^2 - a^3}{6} = \frac{(b - a)^3}{6} \quad (6) \end{aligned}$$

Then using (6) to complete our estimate in (5). Also we have $\int_a^b f(t)dt = 1$, we obtain

$$\left| \frac{1}{b - a} \int_a^b f(t)(b - t)(t - a)dt - \frac{(b - a)^3}{6} \right| \leq \frac{1}{2} ((a + x)^2 + (b + x)^2 \|f(t)\|_p) + \frac{(b - a)^2}{6}.$$

Then,

$$\left| \int_a^b f(t)(b - t)(t - a)dt - \frac{(b - a)^3}{6} \right| \leq \frac{(b - a)}{2} ((a + x)^2 + (b + x)^2 \|f(t)\|_p) + \frac{(b - a)^3}{6},$$

Now by using Lemma 1.2.1 , we get,

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \frac{(b-a)^3}{6} \right| \leq \frac{(b-a)}{2} ((a+x)^2 + (b+x)^2 \|f(t)\|_p) + \frac{(b-a)^3}{6} \quad \blacksquare$$

Corollary 1.2.4

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \frac{(b-a)^3}{6} \right| \leq (b+a)^3(1 + \|f\|_p)$$

Proof:

Since,

By using Theorem 1.2.4, we get,

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \frac{(b-a)^3}{6} \right| \leq \frac{(b-a)}{2} ((a+x)^2 + (b+x)^2 \|f(t)\|_p) + \frac{(b-a)^3}{6} \leq (b+a)^3(1 + \|f\|_p) \quad \blacksquare$$

Theorem 1.2.5

Let X be a random variable defined in $[a, b]$ with the probability density function $f: [a, b] \rightarrow R$. If $f, \hat{f} \in L_p[a, b], p < 1$, then we have,

$$|b - E(X)||E(X) - a| - \sigma^2(X) \leq 2^{\frac{1}{p}+3} b^{\frac{4}{p}} \|\hat{f}\|_p, 0 < p < 1$$

Proof:

Recall the "Pre-Chebychev inequality"

$$\left| \frac{1}{b-a} \int_a^b f(x)g(x)dx - \frac{1}{b-a} \int_a^b f(x)dx \frac{1}{b-a} \int_a^b g(x)dx \right| \leq (b-a) \|\hat{f}\|_p \left| \frac{1}{(b-a)} \int_a^b |g(x)|^2 dx - \left(\frac{1}{(b-a)} \int_a^b |g(x)| dx \right)^p \right|^{\frac{1}{p}} \quad (7)$$

In (7) put $g(x) = (t-a)(b-t)$, we get

$$\left| \frac{1}{b-a} \int_a^b f(t)(t-a)(b-t)dt - \frac{1}{b-a} \int_a^b f(t)dt \frac{1}{b-a} \int_a^b (t-a)(b-t)dt \right| \leq (b-a) \|\hat{f}\|_p \left| \frac{1}{(b-a)} \int_a^b |(t-a)(b-t)|^2 dt - \left(\frac{1}{(b-a)} \int_a^b |(t-a)(b-t)| dt \right)^p \right|^{\frac{1}{p}} \quad (8)$$

Since

$$\int_a^b |(t-a)(b-t)| dt = \frac{(b-a)^3}{6}, \int_a^b f(t)dt = 1.$$

And

$$\int_a^b |(t-a)(b-t)|^2 dt = \int_a^b (t-a)^2(b-t)^2 dt = \frac{(b-a)^5}{30}.$$

Then (8) become,

$$\left| \frac{1}{b-a} \int_a^b f(t)(t-a)(b-t)dt - \frac{(b-a)}{6} \right| \leq (b-a) \|\hat{f}\|_p \left| \frac{1}{(b-a)} \int_a^b \frac{(b-a)^5}{30} dt - \left(\frac{(b-a)^2}{6} \right)^p \right|^{\frac{1}{p}}.$$

Then,

$$\left| \int_a^b f(t)(t-a)(b-t)dt - \frac{(b-a)^2}{6} \right| \leq (b-a)^2 \|\hat{f}\|_p \left| \left[\frac{(b-a)^4}{30} - \left(\frac{(b-a)^2}{6} \right)^p \right] \right|^{\frac{1}{p}}$$

By using Lemma 1.2.1, we get

$$\left| b - E(X) | E(X) - a | - \sigma^2(X) - \frac{(b-a)^2}{6} \right| \leq (b-a)^2 \|\hat{f}\|_p \left| \left[\frac{(b-a)^4}{30} - \left(\frac{(b-a)^2}{6} \right)^p \right] \right|^{\frac{1}{p}},$$

This implies,

$$\begin{aligned} \left| b - E(X) | E(X) - a | - \sigma^2(X) - \frac{(b-a)^2}{6} \right| &\leq (b-a)^2 \|\hat{f}\|_p 2^{\frac{1}{p}-1} \left(\left(\frac{(b-a)^4}{30} \right)^{\frac{1}{p}} + \frac{(b-a)^2}{6} \right) \\ &\leq (b-a)^2 \|\hat{f}\|_p 2^{\frac{1}{p}-1} \left(\frac{2^{\frac{4}{p}-1} \left(b^{\frac{4}{p}} + a^{\frac{4}{p}} \right)}{30^{\frac{1}{p}}} + \frac{2}{6} (b^4 + a^4) \right) \\ &\leq (b-a)^2 \|\hat{f}\|_p 2^{\frac{1}{p}-1} \left(b^{\frac{4}{p}} + a^{\frac{4}{p}} + b^4 + a^4 \right) \\ &\leq (b-a)^2 \|\hat{f}\|_p 2^{\frac{1}{p}-1} \left(b^{\frac{4}{p}} + a^{\frac{4}{p}} + b^{\frac{4}{p}} + a^{\frac{4}{p}} \right) \\ &\leq (b-a)^2 \|\hat{f}\|_p 2^{\frac{1}{p}} \left(b^{\frac{4}{p}} + a^{\frac{4}{p}} \right) \\ &\leq 2(b^2 + a^2) \|\hat{f}\|_p 2^{\frac{1}{p}} \left(b^{\frac{4}{p}} + a^{\frac{4}{p}} \right) \\ &\leq 2^{\frac{1}{p}+2} \left(b^{\frac{4}{p}} + a^{\frac{4}{p}} \right) \|\hat{f}\|_p \\ &\leq 2^{\frac{1}{p}+3} b^{\frac{4}{p}} \|\hat{f}\|_p, \end{aligned}$$

Then ,we get

$$\left| b - E(X) | E(X) - a | - \sigma^2(X) - \frac{(b-a)^2}{6} \right| \leq 2^{\frac{1}{p}+3} b^{\frac{4}{p}} \|\hat{f}\|_p \quad \blacksquare$$

Lemma 5.2.7[4]

Copyrights @Kalahari Journals

International Journal of Mechanical Engineering

Vol.7 No.3 (March, 2022)

If $g, h, \dot{h} \in L_1[a, b]$, then

$$\left| \frac{1}{b-a} \int_a^b h(t)g(t)dt - \frac{1}{b-a} \int_a^b h(t) dt \frac{1}{b-a} \int_a^b g(t)dt \right|^2 \leq \left(\frac{b-a}{\pi} \right)^2 \int_a^b |\dot{h}|^2 \left[\frac{1}{b-a} \int_a^b g(t)^2 dt - \left(\frac{1}{b-a} \int_a^b g(t) dt \right)^2 \right]$$

Is Pre-Lupas inequality, when g, h and $\dot{h} \in L_2[a, b]$

Now let us generalize Pre-Lupas inequality for $L_p[a, b], p < 1$ spaces.

Theorem 1.2.8

If $g, h, \dot{h} \in L_p[a, b], 0 < p < 1$, then

$$\left| \frac{1}{b-a} \int_a^b h(t)g(t)dt - \frac{1}{b-a} \int_a^b h(t) dt \frac{1}{b-a} \int_a^b g(t)dt \right| \leq \frac{c(b-a)^{p-\frac{1}{p}}}{\pi} \|\dot{h}\|_p \left(\frac{1}{b-a} \int_a^b g(t)^2 dt - \int_a^b g(t)dt \right)$$

Where c is a positive constant.

Proof

By using Lemma 1.2.7 and (2) we get,

$$\left| \frac{1}{b-a} \int_a^b h(t)g(t)dt - \frac{1}{b-a} \int_a^b h(t) dt \frac{1}{b-a} \int_a^b g(t)dt \right| \leq \frac{c(b-a)}{\pi} \left(\sum_{i=1}^n \frac{b-a}{n} |h(t_i)|^2 \right)^{\frac{1}{2}} \left(\frac{1}{b-a} \int_a^b g(t)^2 dt - \int_a^b g(t)dt \right)$$

Then using (3) secondly, we get

$$\left| \frac{1}{b-a} \int_a^b h(t)g(t)dt - \frac{1}{b-a} \int_a^b h(t) dt \frac{1}{b-a} \int_a^b g(t)dt \right| \leq \frac{c(b-a)}{\pi} \|\dot{h}\|_p \left(\frac{1}{b-a} \int_a^b g(t)^2 dt - \int_a^b g(t)dt \right) \quad \blacksquare$$

Collorally 1.2.9

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \frac{(b-a)^3}{6} \right| \leq \frac{c(b-a)^{5+p-\frac{1}{p}}}{6\pi} \left(\frac{b-a}{5} - 1 \right) \|\dot{f}\|_p,$$

where c is a positive constant.

Proof

Put $h(t) = f(t), g(x) = (t-a)(b-t)$ in Theorem 1.2.8, we get

$$\left| \frac{1}{b-a} \int_a^b f(t)(t-a)(b-t)dt - \frac{1}{b-a} \int_a^b f(t) dt \frac{1}{b-a} \int_a^b (t-a)(b-t)dt \right| \leq \frac{c(b-a)^{p-\frac{1}{p}}}{\pi} \|\dot{f}\|_p \left(\frac{1}{b-a} \int_a^b [(t-a)(b-t)]^2 dt - \int_a^b (t-a)(b-t)dt \right) \quad (9)$$

By using Lemma 1.2.1, we get

$$\int_a^b (b-t)(t-a)f(t)dt = |b - E(X)||E(X) - a| - \sigma^2(X),$$

Since

$$\int_a^b (t-a)^2(b-t)^2 dt = \frac{(b-a)^5}{30} \text{ and } \int_a^b f(t)dt = 1.$$

Also,

$$\int_a^b (b-t)(t-a)dt = \frac{(b-a)^3}{6},$$

So, (9) implies,

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \frac{(b-a)^3}{6} \right| \leq \frac{c(b-a)^{2+p-\frac{1}{p}}}{\pi} \|\hat{f}\|_p \left(\frac{(b-a)^4}{30} - \frac{(b-a)^3}{6} \right).$$

Then, we get,

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \frac{(b-a)^3}{6} \right| \leq \frac{c(b-a)^{5+p-\frac{1}{p}}}{6\pi} \left(\frac{b-a}{5} - 1 \right) \|\hat{f}\|_p,$$

where c is a positive constant ■

Theorem 1.2.10

Let X be a random variable with the probability density function $f: [a, b] \rightarrow \mathbb{R}$. If $f \in L_p^n[a, b] = \{f: [a, b] \rightarrow \mathbb{R}, f, f^{(n)} \in L_p^n[a, b], 0 < p < 1\}$, then we have

$$\left| |b - E(X)||E(X) - a| - \sigma^2(X) - \sum_{i=0}^n \frac{(i+1)(b-a)^{i+1}f^{(i)}(a)}{(i+3)!} \right| \leq \frac{c}{n!} \|f^{(n+1)}\|_p \frac{(b-a)^{(n+1)p+3}}{(np+2)(np+3)},$$

where c is an absolute constant.

Proof

The Taylor's formula with integral remainder [13] is

$$f(t) = \sum_{i=0}^n \frac{(t-a)^i}{i!} f^{(i)}(a) + \frac{1}{n!} \int_a^t (t-s)^n f^{(n+1)}(s) ds$$

$$t \in [a, b] \tag{10}$$

By using Lemma 1.2.1 and (10), we have

$$\begin{aligned} & |b - E(X)||E(X) - a| - \sigma^2(X) \\ &= \int_a^b (b-t)(t-a) \left[\sum_{i=0}^n \frac{(t-a)^i}{i!} f^{(i)}(a) + \frac{1}{n!} \int_a^t (t-s)^n f^{(n+1)}(s) ds \right] dt, \\ &= \sum_{i=0}^n \frac{(t-a)^i}{i!} f^{(i)}(a) \int_a^b (b-t)(t-a) dt + \frac{1}{n!} \left[\int_a^b (b-t)(t-a) \int_a^t (t-s)^n f^{(n+1)}(s) ds \right] dt \end{aligned} \tag{11}$$

Using the transformation $t = (1-u)a + ub$, $t \in [a, b]$

If $t = a$, then

$$a = (1-u)a + ub$$

$$a = a - au + ub$$

$$0 = u(b-a).$$

This implies, $u = 0$ where $t = a$.

Similarly,

If $t = b$, we obtain $u = 1$. Also, $dt = (b-a)du$,

$$\int_a^b (t-a)^{i+1} (b-t) dt = (b-a)^{i+3} \int_0^1 u^{i+1} (1-u) du = \frac{1}{(i+2)(i+3)}$$

By using (11), we deduce that,

$$|b - E(X)||E(X) - a| - \sigma^2(X) = \sum_{i=0}^n \frac{1}{(i+2)(i+3)} \frac{(b-a)^{i+1} f^{(i)}(a)}{i!} + \frac{1}{n!} \left[\int_a^b (b-t)(t-a) \int_a^t (t-s)^n f^{(n+1)}(s) ds \right] dt$$

This implies,

$$\begin{aligned} & \left| |b - E(X)||E(X) - a| - \sigma^2(X) - \sum_{i=0}^n \frac{(i+1)(b-a)^{i+1} f^{(i)}(a)}{(i+3)!} \right| \\ & \leq \frac{1}{n!} \int_a^b (b-t)(t-a) \left| \int_a^t (t-s)^n f^{(n+1)}(s) ds \right| dt \quad (12) \end{aligned}$$

Since

$$\left| \int_a^t (t-s)^n f^{(n+1)}(s) ds \right| \leq \int_a^t |t-s|^n |f^{(n+1)}(s)| ds.$$

Then by using (3), this implies,

$$\left| \int_a^t (t-s)^n f^{(n+1)}(s) ds \right| \leq c(b-a)^{p-\frac{1}{p}} \left(\int_a^t |t-s|^{pn} |f^{(n+1)}(s)|^p ds \right)^{\frac{1}{p}},$$

Then, we get,

$$\left| \int_a^t (t-s)^n f^{(n+1)}(s) ds \right| \leq c(b-a)^{p-\frac{1}{p}} |t-s|^{pn} \|f^{(n+1)}\|_p,$$

$$0 < p < 1. \quad (13)$$

Put (13) in (12), we get,

$$\begin{aligned} & \left| |b - E(X)||E(X) - a| - \sigma^2(X) - \sum_{i=0}^n \frac{(i+1)(b-a)^{i+1} f^{(i)}(a)}{(i+3)!} \right| \\ & \leq \frac{c(b-a)^{p-\frac{1}{p}}}{n!} \|f^{(n+1)}\|_p \int_a^b (b-t)(t-a)^{pn+1} dt. \quad (14) \end{aligned}$$

Assume $t = (1-u)a + ub$.

So

$$\begin{aligned} & \left| |b - E(X)||E(X) - a| - \sigma^2(X) - \sum_{i=0}^n \frac{(i+1)(b-a)^{i+1} f^{(i)}(a)}{(i+3)!} \right| \\ & \leq \frac{c(b-a)^{p-\frac{1}{p}}}{n!} \|f^{(n+1)}\|_p (b-a)^{np+3} \int_0^1 u^{np+1} (1-u) du \\ & \leq \frac{c(b-a)^{p-\frac{1}{p}}}{n!} \|f^{(n+1)}\|_p \frac{(b-a)^{np+3}}{(n+2)(n+3)} \\ & = \frac{c}{n!} \|f^{(n+1)}\|_p \frac{(b-a)^{(n+1)p+3-\frac{1}{p}}}{(n+2)(n+3)} \end{aligned}$$

This implies,

$$\left| |b - E(X)| |E(X) - a| - \sigma^2(X) - \sum_{i=0}^n \frac{(i+1)(b-a)^{i+1} f^{(i)}(a)}{(i+3)!} \right| \leq \frac{c}{n!} \|f^{(n+1)}\|_p \frac{(b-a)^{(n+1)p+3-\frac{1}{p}}}{(nP+2)(nP+3)}$$

$$\leq \frac{c}{n!} \|f^{(n+1)}\|_p \frac{(b-a)^{(n+1)p+3}}{(nP+2)(nP+3)}$$

where c is absolute constant. ■

References:

1. J.E.Pecari and N. Ujevid, M. Matid, "On new estimation of the remainder in generalized Taylor's formula," *Mathematical Inequalities and Applications*, vol. 2 (3), pp. 343 361, (1999).
2. J.E. Pecarid and A.M. Fink, D.S. Mitrinovid, "Inequalities for Functions and Their Integrals and Derivatives," *Kluwer Academic, Dordrecht.*, (1994).
3. J.E.Pecari and N. Ujevid, M. Matid, "On new estimation of the remainder in generalized Taylor's formula," *Mathematical Inequalities and Applications* , vol. 2 (3), pp. 343 361, (1999).
4. D.S. Mitrinovid, A.M. Fink J.E. Pecaric and, "Inequalities for Functions and Their Integrals and Derivatives," *Kluwer Academic, Dordrecht* , (1994).
5. P. Cerone and S.S. Dragomir, "Ostrowski type inequalities for functions whose derivatives satisfy certain convexity assumptions," *Demonstratio Math.*, vol. 37 , pp. no. 2, 299– 308., (2004).
6. SILVESTRU SEVER DRAGOMIR, "OSTROWSKI TYPE INEQUALITIES FOR LEBESGUE INTEGRAL A SURVEY OF RECENT RESULTS," *The Australian Journal of Mathematical Analysis and Applications*, vol. Volume 14, no. Issue 1, Article 1, pp. pp. 1-287, , 2017.